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I Analysis of 3 mwn — nn1pt N no- dispute (5) "> "7 /(3) ©™
a  Preface: n1yn mpr (v. 1) implies elders of the %170 172
i Anp o =2pr=2+1 (Mpw T PR) =5
i wrpnm=2+1=3
1  Note: w™ reads 1910 for itself;
(a) a1 "7 not needed, could’ve stated ...o87 Yy oD
(b) w~rifitdidn’t say 121001, R”70 that %Y means “near”
(c) Am 7 infers via w1 from nvY
(d) w»™r doesn’t read that v
b xr7772 n»no and v2pr NYNO require 3
i /9o means “ordination”
1 Source:
(a) Cannot be: v. 2 — then it should be 1 (or 71, if we reckon n”yIn as 91130 7"1) — RWpP
2 Method: (not by “laying of hands) — by calling him »27 and giving him permission to judge mvip "7
(a) Challenge: story of Xa1 12 i 3 who gave last n>’no alone
(i) Answer: he wasn’t alone, others weren’t mentioned out of deference to 821 j2 N7’ "
1. Note: even though n™ is listed as one of the final n’onvin by 811 12 v, tradition that he also re-
ceived n2no from p™ is correct — it wasn’t accepted by others until X21 12 N7’ *1’s n2NO
3 57r7.1no n»nvuin YN (means — can’t give it there; but nanvIN can operate there)
(a) Question: what if »>non are in *"® and D’In01 are in "N?
(i) Answer: the ponol must be in the same place, as per stories with jany "
1. Tangent: 13 "1 wasn’t successful in giving n2'no to a student
2. Response: he was from 9y 3, who should not receive n>'no as per vv. 3-4
(ii) Stories: of praise given at N2'nv of certain scholars and greeting to 1nar " by 70°p »a (in Caesaria)
I Analysis of s mwn —noy n%y — dispute (5) N’ " /(3) W™
a  Source:v.5 (as above, POoW Pipt x 2 + 1; w"™ — only 7ipr +1)
i w77 interprets PvaYw as needed to require members of the 5110 172
ii 71 infers from Pipt
1 w77 that alone would have given nop »7mv; Pvaw needed to require 1m0 172
2 r7rinfers npr:npt from v, 1
3 Challenge: if so, why not infer the whole piece from v. 1 and not need our 1va?
(a) Rather: the v of o2, to »", adds 2; w" doesn’t read its significance
(i) Challenge: yrm w37 should add another 4 (°: 9; v™: 7)
(if) Answer: each needed for its own nw1T — WY — not agents; y11M, even if proximal town is obvious
b Dissent: »"ar1 requires 790 (per v. 6) and "3 (per vv. 7-8) — but he also mentions 7710
i Question: does he disagree on 1 count (3”121 72n) or on both (needs full 1>717M10)
1 Answer (901 27): he requires full y37m0
(a) Proof: case where a majority of the 17mv is found outside (which cannot be under normal circumstances
as per v. 9) — must be that they all went out for n%p n1n
(i) Counter: perhaps they went out to add to the city or mmy
(if) Note: Rn» 2 supports qo1 11 — if they went out to add to city or measure for navy nvy...
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